Question # One:{ 60 Marks)
Select the best answer for each of the following questions and pel your answers in

the given Table at page 5.

1)} Many of the most important developments in the-earliest days of the compuier were
motivated by what event?

A, world War [

B, )World War I

(. Palestinians dispora 1948 (48 453
D, Establishing INTEL Company

2) Which reprcsents the order in which computer circuitry evolved through three
generations of technology? Q’( l
. f (e

A, Silicon chip, vacuum tube, transistor i@ﬁ

B. vacuum tube, silicon chip, transistor i(// A u . b o

., Transistor, vacuum tube, silicon chip — 7. n .
@V acuum tbe, transistor, silicon chip L” ’

—nur! 5 & ﬂ L
3) The decimal number 17 writien in Binary: |L/1 . R
A, 1101 B. 1001
@ 10001 D. None of the above
V- ]_Jl" - I¥ LT ff’?
4) The binary number llDﬂl greater than the binary number 11 1 L 2 ’iL é ?o
& T £k A
@ | true 15 - ? ¥ B. falsc i o i
C. error D, None of the above © 7 v

3} One megabyte cquals approximately

1000 bits B. 1000 bytes
C | million bytes D. 1 million bits

6) A computer’s internal bus can be connected to an external peripherals through.
A, CPU B. A flash

(C)A port D. RAM

7} ¥When you first turn on a computer, the CPU is preset to execute instructions stored
n:

A. RAM B. Hard disk
C. The CPU @RGM
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8) Nonvolatile memory
X A. Can be thrown in a fire without exploding
% B.Cannot be used to store programs.
an keep its contents without a flow of electricity
 D.Loses its contents with a flow of electricity

9) Information travels between components on the motherboard through:
A. Ports B. peripherals

C. flash memory buses

10)  Which of these is both an input and an output device?

A. Speakers B. A sensor
C. A plotter @ A touch screen
11) A multifunction printer generally includes several devices, including
a Scanner B. a CRT monitor
C. aDVD drive D. All of the above
,4 12) Most digital cameras today store images using:
(A DVD - RAM B. CD - ROM
% C. Flash Memory X D. Allof the-above
13) Which of the following storage devices is sequential access:
A. Flash memory B. Hard disk

C. CD-ROM Magnetic Tape
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%1 4) Lazer printer is considered to be:
A) Non —impact input device B) Impact input device
Non —impact output device D) Impact output device

MS) Which of the following is an output device only:

X A. Mouse XB.RAM
@crecn D. Printer
16) CPU in the same family are generally designed to be
A. Forward compatible @Backward compatible
C. Parallel compatible D. None of the above
17 The first microprocessor was invented by engineers
@ Intel B. Microsoft
C. Apple D. None of the above
18) Software that converts voice datz ‘nto words that can be edited and printed:

A. Microsoft word software

B. Acrobat software

C. > Speech recognition software
D. None of the above.

19) Image quality affected by
A. Resolution only
B. Color depth only.
@ Resolution and color depth
D. None of the above

20) The main usage for magnetic tape is
A. To access data sequentially
(B backup
C. Reliability
D. Can be stored in any environment
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Please put all of your above answers here:

Question # Answer

1.

2.

=
=
=
=

3.

-

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.
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Question Two (5 points for each part

‘%A : Differentiate between RAM and ROM?

RAN\ QQ)/\/\
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B :What do we mean by computer network ?
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C : Explain the needs to each one of the following : - P T
Borts 4 C""“P“"’l”}f“‘wef““ bws Con Ve LW’(* oo exter <@ Penphenl
+S l 1! l(é
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And give an example on each one?
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D : Differentiate between primary storage and secondary storage and give an example on each
one?
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f K : What are sensors, give 3 examples of using them.
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G : State five input devices (the device is input and only input).
L %’Mw >C wr
22— Wevie__—
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Y_ Touch PD\(J / g
18 h’)/'otruplwuc L.

H : CPUs in the same family are backward compatible what do we mean by backward
compatible.

j"# Means Fhat Fhe newer versiom o TP Chn Yec.quize cw\j
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Good Luck
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